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The figures in the margin indicate -
Jull marks for the questions.

- Answer either in English or in Assamese.

1. Answer the following questions : 1x10=10
woE MEIRE el Tl ¢

" (a) If a matrix has 8 elements, what are
. the possible orders it can have ?

I GO (oo 801 (&1 AU, (0% 2A©
QT 217 TSN VA [Fe
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(b)

(c)

(d)

What is perpetual annuity ?

EREEIRIEEINEE

State True or False :
Ty 7 N &g

“In LPP, all variables may not be
positive.”

“aRS AFNt AT, e BEP LHINF A28

- A@r

Fill in the blank :
Q& 3 739 A 3

faxdx=

In a ratio a: b, if a> b, then it is called
a ratio of inequality.
N (Fill in the blank)

ﬂﬁﬁﬁ@ﬂ%d: b3, a> b, (WX T

. oS Q@I 2T |
(AT N2 979 I1)
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() The nth term of an AP is 3n-35. Find
the 15t term.

a5l eI 29t n O AWl ¥ 3n-5|
29 SToR 15 ©N *meo! W 91

(g) If interest is compounded half yearly,
what is the formula for finding
amount ?

Given (val oN(R)
A= Amount (R&¥)

P= Principal (&14)
r=Rate ([} )

n= No. of years (IR)

(h) Define limit of a function f(x) at x= a

x=a% f(x) TR AT @ w3l
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() Fill in the blank :

YR A 7[R T

2 (1R)=

where x denotes the volume of output.

TS x (T BeAirs ANTF ISR
() Write one difference between matrix and
determinant.
Gl i [Refiaat Siers B« &t
2. Answer the following questions : 2x5=10

Wﬁwﬁmﬁm

(ci) A man spends 85% of his' income. If

his saving is ¥ 37-50, find his salary.

G MR (O8I YITZR 85% A IR forge
37-50 T AB! ACF | (06 vy 7 =1
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(b) 1f (IF)

x+3y y| |4 -1
7-x 4| |0 4

find the values of x and y.

x O y3J SN Sfered |

(c) Divide Rs. 52 among A, Band Cin the
A N
ratio 5:3:-7 .

52 56 A, B CI WErS 40

THATSS G5t T |

(d) What sum of money will yield % 1,407

as interest in 1-21_ years at 14% p.a.

simple interest.

TR 14% 7 TFo© B #{FAd Fiee 15 T
IS 1,407 Ol T3

(e) Evaluate (F93 <0) :

PR e LT, T \
lim
x->0 x ' )

4 (Sem-4/CBCS) HC2 (BMT)/G 5 Contd.




3. Answer the following questions : (any four)

o) Az S 2eR e s

(@)

(b)

5x4=20

1 -1 a 1
If (3M) A= [2 _1],B=[b _1}

and () (A+ B) = A2+ B?,
find the value of a and b.
(CSTF a INF bI I [T =)

The cost of computer is T 1,00,000 and
its life period is estimated to be 20
years. After 20 years, the computer is
expected to cost more by 20% over its

present cost. Find the sum to be
invested every year at 5% p.a. CI for .

20 years to replace this computer.

@t ST T 1,00,000 TF SIE 3]
FRWPIE 20 I I 491 02071 20 IRK RS
TR T 20% I AR | FEREHRCG! 20 IR
AITS HeTN I A A I & ARTeR
Bl =R 5% berqfE Yo T T i, e
4|
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(c) The total cost function for producing
x units of a commodity

TC = 300x —10x? +-31-x3.

Find the output levels at which the
marginal cost is minimum.

x FLAYF AT BeAMT, I TAMA [T TN

TC = 300x —10x? +—éx3.

I AN BV IR AfTE [7 Pro
%' g =4

(d) A bicycle agent allows 20% discount
on his marked price and makes 20%
profit on his outlay. What is the market
price of the bicycle on which be gains
Rs. 240?

o i3 Rz ks FoR 8o[ks 20%
@2z frar e RamE esigs 20% &S
(1 | I BIREE TS 240 T 5 IF, (0T

piRcEea] fafs Ie i e
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4.

(€)

(f)

(c1)

(b)

if the pt g™ 1" erim of 2 GP are
X i, 2 respechively then prmff, that

* ":?"f P:ZP 4 » ]t

51 arteq wifl e p o, gin, ree o7 e
X, Y, 7 &0 2 A

xl{"f‘yf' ﬂ'z])"q =1 '

[f (%) z=3x>-5x%y+2y°>,
oz oz

show that (49019 F¥4f) x—+y— =3z
ox ~ oy
Integrate (TR 34f) 2 2Ye+2Y=5

. I(J?-f-};]z N

(ii) I(6x +8) \[Sx-z +8x +2 dx

The marginal revenue function of a

product is MR =8+5x-x?. Find the
total revenue and the average revenue,
given TR= 82 when x=5. S

«B1 Beofiad eifes f@) wig w9 T5

MR =8+5x-x° | (S8 gjb [T Wiy o
sie @) sy fadfa =) s TR =82
I x= 51
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5. (a)

(b)

OR / @24t

Examine the continuity of the following

function at x=3: 5

= 3§ To7s T I TEN(0E Sateel A<
9 3

X< - )
f(X)':‘ﬁ 3" if x-3
e , 1if x=3

dy  di
Find dfi (ZY Qg ) 2%+2%=5

(i) y=e"logx

Define linear programming’ and state
its limitations. . 4

R AFNoR WLl [l T 29R ARSI
T 4 |
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(b) Solve the follo{xring linear programming
problem by graphical method : 6

Ol (AT TN AIICG! (@72 ATwMOE N4
4 3 |

Maximize (5199 S7 R ) Z = 8x + 5y

subject to (9 AMATF) : 2x+ y <500
x+y <250
x <150

x,y=20

OR [ 53

7. (a) Two mixtures A and B contain glycerine
and water in the ratio 4:5 and 3:2
respectively. How many litres of B must
be mixed with 81 litres of A so that
resulting mixture may contain equal
quantities of glycerine and water ?

=
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T4 :5 9% 3: 2181 FoR AT IS [
s B filzeiicet e fiers faniRa o«
SO FAN 29?2

(b) A man invested 52,000 on 100
shares at a discount of ¥ 20 paying 8%
dividend. At the end of the year he sells

the shares at a premium of ¥ 20.
Find —

(1) his annual dividend ;

(i) the profit earned. S
GG TR (969 52,000 T 100 G/ wa
Xl 9q 20 B ({2 TS 8% TSI LG |

T[T (O€ IAFCENER W 2/d 20 5[l
wizgge @t T |

cors [T S
(i) (O8I IR FYIH ;
(i) (S€ I WA
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8. (a)

(b)

Solve by Cramer’s rule : S

WWWWWW

x+2y—2=3
3x-y+z=8
x+y+z=0

0O 1
If (3M) A=[O 0] and (SU<)

I=[(1). ?] prove that (&9 I (@)

(aI + bA)° = a®I + 3a’bA S

" OR/ w24t

A contractor undertook to build a house
in 21 days and engaged 15 men to do
the work. After 15 days he found it
necessary to engage 9 more men and
he had finished it 1 day earlier. How
many days he would have been behind
time if he had not engaged the

-additional men ? o
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(b)

g M 21 e @t v +) WA 15
T Wiz Feael SR | 15 A 2iies (o€ TS
9 T gz ezl R e et 1 e
A o BRCA | Tgeier R FHezist w4
A, TN T 91 7Aime (1 SRCeTRee 2

A man borrowed Z 9;000 to repay the
amount with interest of ¥ 1,000 by
monthly instalments decreasing
successively by 20. In how many
months was the loan repaid, if the first
instalment of ¥ 640 was paid one month

after the sum was lent? 5

e FFe 1,000 T Fooz ARkeix 9=
FRES 9,000 THIF B! A4 (5] & A2
A SARENY FETS T 20 Tl TS [FEEE
& s'si| T Tl 4R FIER @R Prge e
&¥e 640 B3 «ifReiiy T 2R, (SETE
SiRE R WIS e ARee SR
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10. (a) Evaluate (= Fefa =) : 2Yet+2Ye=5

. B R |
(1} Iim
x> 6x° +7x% +4

. J__a = -

x—0

(b) From the 1st principle, find the

1 |
derivative of 7—; ) 5

A% & IR IR, J—-awﬁq‘aW|

OR / &<l

11. (a) Solve (FGH ) : ; 5

a a X
m m m|=0
b x b
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(b) The simple interest on a sum for 3 years

at 4% is ¥ 303-60. Find the compound

interest on the sum for the same period
at the same rate. - S

4% TR (A L 3 T_€ 5[
30360 5 | O AT, uﬂt“:ﬁm_(ﬁfi
TR 5@ 7o [ /|
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